0—3

X
N

<d @> (rad)
o
=
a1

Pl PR
H ]

T T T

-2 -1 0

1

2 3

TP n (PCA to beamline)

< o cot(y) >

o
[N

e
[
l

o
N

-2 -1 0 1 2 3
TP n (PCA to beamline)

—=— DQM_ttbarPU_mkFit_5iter
—e— DQM_ttbarPU_mkFit_5iter_updatedPR111_update
—— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation

=
o
o

[e2]
o

N
o

20

< 00, > (M)
[ee]
o
I

Ratio
e
R

o | A D T P T |
3 2 -1 0 T 2 3

TP n (PCA to beamline)

<opyp, > ()

Ratio

TTTTTTTTT
=
*
Z
T
i

.............................................

T T T TT

0

[ mmmm:
N -
I
iR

1

2 3

TP n (PCA- to beamline)

—~

100

..............................

.......................................

b

80
60f}
40f
20ft
off
|
|
ooll
|
100}
1.25—
1 15—'
3

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


